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Kaggle

kagg|e Competitions  Datasets Models Code Discussions Courses

Level up with the largest
Al & ML community

Join over 16M+ machine learners to share, stress test, and stay
uc-to-date on all the latest ML techniques and technologies.
Discovar a huge repository of community-published models,

data R code for your next project

{5 Register with Google Register with Email

https://www.kaggle.com/
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sepal length (cm)| sepal width (cm)| petal length (cm)| petal width (cm))|

0 5.1
1 49
2 47
3 46
4 S
S 5.4
6 4.6
7 S
8 44
9 49
10 5.4
1 48
12 48
13 43
14 5.8
15 9.7

3.5

3
3.2
3.1
3.6
3.9
34
34
2.9
3.1
3.7
34

3

3

4
44

14
14
1.3
1.5
14
1.7
14
1.5
14
1.5
1.5
1.6
14
1.1
1.2
1.5
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bad_iris_df pd.read_excel('bad_iris.xlsx', index_col=0)
bad_iris_df.info()

<class 'pandas.core.frame.DataFrame'>
Int64Index: 150 entries, @ to 149
Data columns (total 4 columns):

Column Non-Null Count

sepal length (cm) non-null float64
sepal width (cm) non-null float64
petal length (cm) non-null float64
petal width (cm) non-null A GERY
dtypes: float64(4)
memory usage: 5.9 KB
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bad_iris_df.isna().any()

sepal length (cm) False

sepal width (cm) False
petal length (cm) True
petal width (cm) False
dtype: bool

RBIEDIZPIZRET B

idx = bad_iris_df['petal length (cm)'].isna()
bad_iris_df[idx]

sepal length (cm) sepal width (cm) petal length (cm) petal width (cm)

5.5 2.5 NaN 1.3
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sklearn.clust KMeans

kmeans = KMeans(n_clusters=3)
kmeans.fit predict(bad_iris_df)

Traceback (most recent call last)

KMeans
kmeans -~ KMeans(n_clusters )

kmeans. fit_predict(bad_iris_df)

To—XvwtE—=IDFY (2022/5DVersion1.1.0H05)

: Input X contains NaN.

KMeans does not accept missing values encoded as NaN natively. For supervised learning, you might want to consid
er sklearn.ensemble.HistGradientBoostingClassifier and Regressor which accept missing values encoded as NaNs nat

ively. Alternatively, it is possible to preprocess the data, for instance by using an imputer transformer in a p
ipeline or drop samples with missing values. See https://scikit-learn.org/stable/modules/impute.html You can fin

d a list of all estimators that handle NaN values at the following page: https://scikit-learn.org/stable/module
s/impute.html#estimators-that-handle-nan-values
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sepal length (cm) | sepal width (cm)| petal length (cm)| petal width (cm)|

0 5.1
1 49
2 47
3 4.6
4 S
S 5.4
6 4.6
7 S
8 44
9 49
10 5.4
1 48
12 48
13 43
14 5.8
15 5.7

3.5 14 0.2

3 14 0.2
3.2 1.3 0.2
3.1 1.5 0.2
3.6 14 0.2
3.9 1.7 04
3.4 14 03
3.4 1.5 0.2
2.9 14 0.2
3.1 1.5 0.1
3.7 1.5 0.2
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bad_iris2_df pd.read_excel('bad_iris-2.x1lsx"', index_col=0)
bad_iris2_df.info()

<class 'pandas.core.frame.DataFrame'>

Int64Index: 150 entries, @ to 149

Data columns (total 4 columns):
Non-Null Count

sepal length (cm) non-null float64
sepal width (cm) non-null float64
petal length (cm) non-null object
petal width (cm) non-null float64
dtypes: float64(3), object(1)
memory usage: 5.9+ KB
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bad_iris2_df.describe

2.3
3

2.5

2.6

sepal length (cm) sepal width (cm)

150.000000

5.843333
0.828066
4.300000
5.100000
5.800000
6.400000
7.900000

150.000000

3.057333
0.435866
2.000000
2.800000
3.000000
3.300000
4.400000

44
4.1

44

petal width (cm)

150.000000

1.199333
0.762238
0.100000
0.300000
1.300000
1.800000
2.500000

1.3
1.3
1.3
1.2

IR WZ & THhRfT T3



-2 — & LT IdstringB Z floatB [C ZHR T E 732 L)

sklearn.clustei KMeans

kmeans = KMeans(n_clusters-3)

kmeans.fit predict(bad_iris2 df)

Traceback (most recent call last)

KMeans
KMeans(n clusters )

kmeans L
kmeans.fit_predict(bad_iris2_df)

, 1in
np.ndarray:

np. asarray(self _values, dtype=dtype)

: could not convert string to float: "I’
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meta-1lama/LInma«2+780

stabilityni/stable-diffusion-x]l-base-8.9

- W

epenchat/epenchat

eptl Cxtymator

1llvasviel/ContrclNet-vl-1

carspense/zeroscope_va _Xi
. T

The Al community e E—
building the future. o e

NiZAraim/NizarocCoder-15e-v1.68

The platform where the machine learning community i

collaborates on models, datasets, and applications.
Ceapvis/stablo-mifTusion-vi-4

stahiliryai/stabla-diffusion«2-1

Salesforce/xgen-Th-8k-1inst

https://huggingface.co/
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1 from transformers import AutolmageProcessor, ResNetForimageClassification
2 import torch

3 from datasets import load_dataset

4

5

6 processor = AutolmageProcessor.from_pretrained("microsoft/resnet-50")
7 model = ResNetForlimageClassification.from_pretrained("microsoft/resnet-50")
1

v HYINTF—5E
2 dataset = load_dataset("huggingface/cats-image")
3 image = dataset["test"]["image"][0] Hugglng Face c(__’_ 35 %)

predict_image(image):

inputs = processor(image, return_tensors="pt")
with torch.no_grad():
logits = model(**inputs).logits

predicted_label = logits.argmax(-1).item()
return model.config.id2label[predicted_label]

OoO~NOOULT A WN -

1 predict_image(image)

‘tiger cat'
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Hugging Facelc & % ill#& & D microsoft/resnet-
50 ETI)LZE->T. BATHEUCE®RZFGRMAX
TAICEES UIEEWVWWTI H7?

= Answer

Hugging Face ®micrasoft/resnet-50E /L&A LU T,

&, BLFOFIBICTEWVWEK T,

BAOTRHERELCBREZRFATFESIC

% 3. Hugging Face@Transformers 741 7 7 UZ 1 AR —ILLE T,

RIC. PyTorch¥TensorFlowZR ED /Ny VTV FEA AR —ILUET,
FO%. ZON—RZEBALT. BEZHMAALTETILICELET,

py thon
from PIL import Image
import torch

from torchvision import transforms

from transformers import AutoModel, Autolokenizer

goog g oy
AL 1 A A

image = Image.open("ycur_image_path. jpg")

https://www.perplexity.ai
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3 import torch
4 from transformers import AutoModelForCausallLM, AutoTokenizer

S

7 model_name = "elyza/ELYZA-japanese-Llama-2-7b-instruct”
8 tokenizer = AutoTokenizer.from_pretrained(model_name)
9 model = AutoModelForCausalLM.from_pretrained(model_name, torch_dtype="auto")

prompt(text, default_system_prompt="", do_sample=False, /\-A— s
max_tokens=1024, model= n‘orrl tokenizer=tokenizer): EI: j‘H A'g_ Flﬁ &
B_INST, E_INST = "[INST]", "f.l" ' E/_"I—\ K’DT s % =
B_SY! ) E_SYS = "<<SYS>2\n", "\nee/SYS>>\n\n"
DEFAULT SYSTEM PROMPT = defdbh. system_prompt
if torch.cudalis_available():
model = model.to("cuds")
prompt = "{bos_token]{b_inst: [system}{prompt} {e_inst} ".format(
bos_token=tokenizer.hos_token,
b_inst=B_INST,
system=f"{B_SYS] [DEFAULT_SYSTEM_PROMPT ] |[E_SYS}",
prompt=text,
e_inst=C_INST,

h torch.no_grad():
tcken ids = tokenizer.encode(prompt, add special _tokens=Fa se, return_tensors="pt")

config = GenerationConfig(max_new_tokens=max_tokens,
do_sample=do_sample,
pad_token_id < tokenizer.pad_token_id,
eos_token_id = tokenizer.eos_token_id)
cutput_ids « model.generate(token_ids.to(model.device), generation_config«confiq)
outout = Ltokenizer.decode(outpul ids.tehist()[0][token ids.size( 1) :, skip_special _tokens=T1
return output
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1 sys_prompt = "HEEET—IVAI X, Al BRFEFE 7 NIV ZLOEMERTYT, "
2 text = "7 )/T//_/’d TR TAICIEMPLEDPRATIESLN,

3

4 print(prompt(text, sys_prompt))

I TELTRRTHEDIZHERIELZLITFITRUET.

TSIV AFN: T VAT ARG H PR EEOT7 ) VX LERETBIUTAI T AF N PHLETT , PythonPREED B EEZZSVEDNHVET,
LTI RNORMM: TV AT ADFH AT ECPHRLBRDTIVIVZXLERIRT I T—IHHOBRONMISLETT . RHFPRRLBOEREFLSLEVDVET,
DR ZHR: TS YA I ADT NIV LERETIRICIBES X ZAONBALETT, REO=——ZAXES X ZABMEBRTILENEVET,

LAS =3y AF) T=IYA I T4 AMIBR T —APREFEB U THERETOITLESHVET, TD/H, A3 =7 =3 AF ) EBLBIHIET,

BB TSV AIADT VIV LERRIZEHBOTO /M TERAL, BREMUCETAFINER LSHIENTEELT,

EEER: TIYAMIAPRBFEEO7 NIV X LAIZBAEELTVSH, BCHUVAREEXLEBHYET,

(TX—=FZZELT, RENT I ULEDLDERF

1 brint(prompt:‘text, sys_prompt, do_sample= )

T X T ELTRRTHICDICLBIEILEBHALET,

T—=FXI O ZTELTRRTH/IEDICLBRILIL. LIFDSDTY,

1. BN T—99/MIX Al #BRFEORBRMEMRICHICOITET,

2. TQUSEVIAFI: T—=FH AT APHRBEBETOEDICULERTOQI S/ JERERICDITET,

3. T MDAFI: T—HEBE - AL - A RILTILENHVET,

4. F=IHATL/ADTZ NIV A BERFEBOTIVIVXA, BICT4—=T 5= 002 a—J I RYNI—0FUVET,
S5.EPR M. TV AT RAEZEPRALTEMNTEDIC, EPRXAHBEREY, RROWRERELET.

NSENTGVAKLLBICDNITEHILET, RRPMFTEXT,
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1 kmeans = KMeans(n_clusters=3)
2 kmeans.fit_predict(bad_iris2_df)

ValueError Traceback (most recent call last)
<ipython-input-9-e9406eb8b0dc> in <cell line: 2>()
| kmeans = KMeans(n_clusters=3)
- 2 kmeans.fit_predict(bad_iris2_df)

A
v O frames
/usr/local/lib/python3.10/dist-packages/pandas/core/generic.py in __array__(self, dtype)

lef __array__(self, dtype: npt.DTypeLike | N = None) -> np.ndarray:
| np.asarray(self._values, dtype=dtype)

def __array_wrap__(

ValueError: could not convert string to float: "I’

—\
)

LIFED T, BA - TUWBDataFrame% Colab ¢
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ValueError: could not convert string to float: "I’

Colab Al

The error is caused by the value 'P9' in the column 'sepal length (cm)' of the bad_iris2_df DataFrame. This
value cannot be converted to a float, which is required by the fit_predict() method of the KMeans class.

To fix the error, you can remove the row containing the value 'Y’ from the bad_iris2_df DataFrame. You can
do this using the following code:

O @

bad_iris2_df = bad_iris2_df[bad_iris2_df['sepal length (cm)'] = "I4']
Use code with caution

Once you have removed the row containing the value ''¥', you can fit the KMeans model to the bad_iris2_df
DataFrame. You can do this using the following code:

0

kmeans = KMeans(n_clusters=3)
kmeans.fit_predict(bad_iris2_df)

Use code with caution
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